1.1

(1) Uy =5V; (2) Uy =5V; (3) I==2A; (4) I=2A

1.2 (a) —10W; (b) —48W, 30W; (¢) —50W, 25W
1.3 (3) B =-560W, P,=-540W, P,=600W, P,=320W, P,=180W
14 I;=-2mA. U;=60V
1.5 P=50W
16 U,=26V, Uy=7V
1.7 Uy =11V, I, =-3A, I;=2A, R, =550Q
1.8 —18W, —18W, 4W
19 U,=0V, I=0A
1.10 Ug, =8.75V
1.11  (a) 82Q; (b) 125Q; (¢) 2Q
1.12 U=4V
1.13 I=25A, Uy =7V
1.14 I=1A
1.15 U, =1V
1.16 1, =3A, I,=8A, I;=11A
1.17 I, =-1A, I,=1A
1.18 I, =2A, [,=-2A, [;=04A
1.19 I, =7A, [,=-115A, [;=35A, [,=-1A
120 (@) Upe =7V, Ry;=6Q; (b) Uy =100V, R,=15Q
1.20 (a) I=15A; (b) I=2A
122 [I=4A
123 I=2A
124 (a) Uy =14V, R;=20Q

(b) Uye =60V, R, =6Q

(¢) Uge =14V, R, =10 Q
125 (a) Uge =4V, R, =8Q; (b) Uy =3V, R0=§Q



2 AL AL RORER R (28 — R0

126 I=1A
127 1=025A
128 1=05A

%2

22 (1) i=10/2sin(1007 + 45°) A;  (2) 90° , 1042 A
24 A+B=14.66+ j13, A-B=-2.66+ 3, AB=100,£83.1°, A/B=1,23.1°
2.7 i, +i, =12.8sin(314r + 21.34°) A, i, —i, =12.8sin(314¢ + 98.67°) A
2.8 u, =10004/2 sin(10°¢ + 45°) V
2.9 i=0.707sin(t +45°) A, u. =7.07sin(t —45°)V
2.10 i=20sin(2r+75°) A
2.11 5A, 1A, 7A
212 (a) 7.07V; (b) 7.07V
2.13 0.065H
214 () 2422-45°Q; (b) J2£45°Q; () 24J2£-45°Q
2.15 (1) i=2sin(10°t —45°) A, uy =20sin(10°7 —45°)V,
u, =40sin(10°¢ +45°)V, wu. =20sin(10°¢—135°) V;
(2) f=112.6H, i=2/2sin10°tA, ug =20425sin10%¢V,
u; =40sin(10°2+90°) V, u. =40sin(10°¢ —90°) V
2.16 i=0.25v2sin(10% +45°) A, iy =0.25sin10* A,
ip =0.25sin(10*7 —90°) A, i. =0.5sin(10%¢ +90°) A
217 I, =10£45°A, 1, =1042290°A, 1,=10£-45°A, Ug=100£-8.1°V
218 1, =05v2245° A, 1, =1290°A, [,=05J22-45°A
1.19 P=880W, O=660Var, S=1100VA, Z=44,36.9°

220 r=2009Q, L=3.12H

221 (1) P=2528W, cos40°=0.766; (2) C=60 uF

222 cosp=055, R=6Q, X=9220Q

223 R=350Q, L=5mH

224 U=2236£26.6°V, P=150W, Q=-50Var, S=158VA, 1=0095
225 R=1009Q, L=573mH, C=17.6 vF

226 X.=120Q

227 w,=10%rad/s, I=2A, U, =8000V, Q=160

228 L=19mH, C=0.051uF



230 I,=44A, I, =44A, I =0
231 I, =4.18A, Iy, =4.18A, I, =242A
232 Z=61.5+j462 Q

2.33 8687W, 26061W

Yaran =

o 3 E

3.1 uc(0,)=4V, i(0,)=1A, i-(0,)=1A, i,(0,)=0A

32 u (0,)=3V, i (0,)=3A, i,(0,)=15A, i,(0,)=15A

33 uc(0,)=6V, u (0,)=6V, i (0,)=0A, i-(0,)=0A, i(0,)=0A
34 uc(0,)=0V, u (0,)=0V, i (0,)=3A, ic(0,)=0A, i(0,)=3A
35 uc=2(0+e")V, ic=-2¢"A

36 i =l-eA, u =5""V

3.7 uc=4(1+e)V

38 uc=8-4e'V

39 wue=20e"V

310 uc=4(1+e PV
_2000 _2000

2000, 2000
311 uc=451-¢ ° )V, ic=30ec ° mA,
_2000 _2000

— —t

ii=75+225¢ ° mA, i,=751-¢ ° )mA
312 ue=2+3""V
313 i =e A, u, =-1.5¢""'V
4 4
——t -t
314 i =2+8e 3 A, u, =—%e 3V
315 ip=5-3¢HA, u =6V, iy=2-eA, i,=3-2e"A

316 i =1-2¢ 3 A

42 33%: 1,=225A, I,=1375A

43 k=10, P=0.78W
44 k=71; U =5V, U,=071V; I,=12.5mA, I, =89mA, P=63mW



4 AL L ROREERE (25 — RO

45 (1) N, =1000[f, N,=1641f; (2) I,=0.197A, I,=12A

46 (1) U, =36V, Uy=24V: (2) I,=1.69A, I,=5A, I;=8A; (3) 1300
4.8 230V, 133V; 133V, 133V

49 10; 1043: 10: 10/+3

410 (1) Iy =577A, Ly =1443A; (2) 1000%: (3) 500 %

411 50010f, 1,=227A, I,=20A

413 (1) 280A; (2) 4375A

Yaran =

S K

54 p=2, HH#HNOKs=1, FH A 1440 r/min i s =0.04
55 p=3
56 sy =004, f,=2Hz
515 (1) sy =0.04, Iy=11.6A, Ty =365N*m;
(2) I,=812A, T,, =802Ne*m, T,=802N°*m, P =643kW
518 (1) Ty =1313N*m; (2) cosp=0.89;
(3) Iy, =106.7A, Ty, =569N*m; (4) REEEZ)

HTE

74 (1) 1V, 0.5%; (2) 0.5%

7.5 5%; 2.5%

7.6 HEIREFEN 0.5A KF: 0.125W/div, 0.25W/div, 0.5W/div, 1W/div;
BN 1A B : 0.25W/div, 0.5W/div, 1W/div, 1W/div;

7.7 41Q, 959Q

7.8 249.975kQ, 2250kQ

Yaran =

o 8 H

8.1 (a) 0.7V:; (b) 1.5V; (c) 4.3V

8.5 (a) JUk, 7v; (b) HiF, 03V; () #uik, 5V
8.8 (1) Iz=50 uA, I.=2mA, Uy =6V

89 Ucs =3VI: Ry=160kQ, I;=751A, I.=3mA



ok

B BE R R

o

8.10

8.11

8.13

8.14

8.15

8.16

8.17

8.18

8.19

8.20

8.21

9.1
9.2

9.3
94

9.5

o

Io=15mA: Ry =320KkQ, I5=3750A, Ug=75V
Ig=50 uA, I.=4mA, U =03V, ZHEMA
R.=2.5kQ, Ry =200kQ

(a)
(»

I =50 uA, Io=2mA, Uy =6V
I, =33 uA, I.=133mA, Uy =8V

SR A, =-180; B LG 4, =-90

Q)
(3
4
Q)
(3
4
Q)
(3
4
Q)
(3
4
Q)

ul
R

Ig=16 1A, I.=08mA, Uy =72V
r,=176kQ, r =3kQ

A, =-375, A,=-24

Igg =12 B A, Iog=12mA, Ucq =6V
r,=23kQ, r =3kQ

A, =-66, A, ,=-63

Ig=251pA, I.=15mA, Uy =45V
r,=92kQ, r =3kQ

A, =-0.73

Ig=250A, I.=25mA, Uygp=7V
r,=85kQ, r,=13Q

A, =0.99

Ig=1g, =34 VA, Io=1=1TmA, Uqg =Ucp =52V

(3) 4,,=-30, A,=-50, A, =1500
(1) I =200A, I =ImA, Ug =4V
Ig =40 LA, [, =2mA, U, =6V
(3) 4, =-116, A4,=098, A, =-114
(1) Iy =100A, I;=05mA, Ug, =105V
Ig =20 LA, [, =1mA, U, =58V
(3) 4,, =095, A4,=-153, A, =-146
H9E
u,=0~-6V
u,=6~12V
S0 A

(1) R, =0.5Ru,; (2) R=10kQ



6 B FROREAE R/

1 Ry R
9.8 uoz——(RF]+RF2+ E szui
R Ry
99 u, =—(uy +uy)
910 wu, =2(uy, —uy;)
9.11 u, =30u;
R,
912 wu, =|1+—
R

1
913 u, =—4(u; +uy)

914 u, =0.5(u; +uy)

915 u, =4(uy, —uyy)

9.16 u, =6u; +3u;, —4uy

9.18 t=1sMfu, =6V, t=2slu, =12V, t=3shfu, =12V
9.19 4=2500, F=0.01

d4
920 A, =100, —-=0.1%
Af

926 f=16kHz, R, >40kQ

B

102 U, =56V, I,=178mA; I, =80 mA, Ugy =79V

103 (1) 13.75mA; (2) 19.44mA; (3) 244V

104 (1) 9V, 90mA; (2) 4.5V, 45mA; (3) 4H; (4) 12V

10.6 (1) 24V; (2) 20V

109 —#E: I, =75 mA, Ugy =353V; HZ: C=250 uF, MifEKT 353V
1011 (1) U,,;, =49V, U, =213V; (2) R =R, =R,

1012 (2) k=155, I;=250 mA, Ugy =20V, C,=C,=1000 uF

H11E

11.1 100000011011, 81B



112 5, 257
113 (110111), =(55),0 = 37)ys » (1001101), =(77),, = (4D),
11.4 111001101100, 0011 0110 1001 0010
11.5 2345, 929
11.7 (1) 011, 101. 110, 111; (2) 011. 100, 101;
(3) 001, 010. 100, 111; (4) 000. 001, 010. 100
119 (1) F=4AB+AC; (2) F=1; (3) F=A4B+BC+ACD+ACD ;
(4) F=AB+D; (5 F=B; (6) F=AB; (1) F=0; (8) F=A+B
11.10 (1) F,=ABC, F,=A+B+C
1111 (a) F=4B; (b) F=A+B
1112 F,=AB, F,=A+B, F;=A®B, F,=AB, F,=A+B, F,=A®B

1113 F,=AB+C, F,=AC+B, F,=A®B®B®C, F,=AB+BC+CA
11.14 (a) F=AB+AC+BC; (b) AB+ ABC +CD + BCD
11.15 (a) F=AB+AB+AC; (b) F=AB+BCD
1116 (a) F=AB+A4B; (b) F=A®B+C®D
11.17 (@) F=A®B®C®D; (b) FF=A®B®C, F,=A4B+BC+CA
1118 (a) F=A®B®C®D
(b) F;,=B,, F,=B,®B,, F,=B,®B,, F,=B ®B,
(¢) F,=B,®M , F,=B,®M, Fy=B,®M
11.19 F,=AC +BC, F,=ABC+ ABC + ABC + ABC, F,=AB+ BC +CA4
F,=AB+BC+CA
11.20 (1) Y = ABC + ABD + ACD + BCD
(2) Y=A®B®C®D
(3) Y=A®B®C®D
(4) Y=ABC D +ABCD
1121 (1) Y=8,
(2) Y =B;B,B,B, +B;B,B,B, + B;B,B,B,, + B;B,B,B,
(3) Y=B;+B,B, +B,B,
(4) Y=B,+B,B, +B,B,
1122 Y=A®B®C®D
1123 44TY, = 4B, %Y, =AC, A Y, = 4B
1124 447Y,=AB+BC+C A4, #Y,=ABC+ABC+ ABC + ABC ,
4T Y, = ABC
1125 X = ABC + ABD + ACD + BCD + BCD + ABD + ABC + ACD
Y =AB+ AC+ AD + BC + BD + CD




8 B FROREAE R/

H12E

12,12 2 A k] [R50 ml 3 o B
12.13  Fkl RS e
12.14 N3 20 v s
12.17  (a) 8421 i) 8 BEh| i+ 405%;
(b) 5421 i 6 BT EL 55
(c) 8421 ity 7 dh il it Hias
12.18  (a) 10 @EHITH4Es: (b 11 3EHITH s
12.19  (a) SO@EHIT4Es: (b 137 #filh s
1220 (1) CR=Q, , LD=0,0, ;
(2) §:Q5Q4Qo ’ E:Q5Q4Q1 5
3 §:Q6Q5Q1Qo ’ E:Q(,Q5Q2 H
(4 §:Q7Q6Q3 ’ E:Q7Q6Q2Q1Qo
1221 (1) Ryy =Rog =0,0, s
(2) Rop =Ry =050,0,0,
(3 Rop =Rop = 06045
4 ROA :ROB :Q6Q5Q4Q3
12.24 1ls
12.26 0.05V
1227 —4.5625V
1228 —4.98V, —3.75V, —0.0195V
1229 —3.75V




